


NAMA

KELAS

PLEASE ANSWER IN THE BOX WITH YOUR RIGHT OPTION!













. D T
. "Wiores Mo O nemssives 1000 D me
P putsde thow OO g o m“' —y

s |
A Thay iry 1o W
- tuation

B Trery are o

( "-'- =N
W

O They work §

E They decid

siuation in
15 "These peops







i: a mbers of @avan ug&f
| e human population on Java increased
8 e expansion of
I e poor N mm
E :“'rhwioumBSMnmmm[mmn
Sadly n order tp feed,
mpetiion with another big :mmn:m”
adaptad lo D“m"e'hlmtlﬂg ore
From the SOTHBnm at i
meaning 10 a hﬂ‘ similar in

A The javan tigers had
can aefammwmh feed, so they
B Tne javan ligers had =
so they can save mlmm:: big cat,
G Thejavan mm m

with amm

24. The lex
[+ oW
B. whywes"
G the dangers @' 3
D. whypeople’ i
£ how people '

25, "Regardless
spontaneity COME:
simultaneously, "€
both must exis!
The underiined word € ofd

the organizalion @ anc

the characteristics &
the structure and the

Wlﬂﬂmusbehawm -

phenamenon

E. structure or sponianefy
they appear simultaneo

26. "Bul they are so prevalent U
be overlooked.”
The underlined word has similg

oDoo>

A. different
B. limited
C. unusual
D. scarce
E familiar
This text is for questions 27 to 30.
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